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1960 GeV ppbar Top (parton level)
— 1 T 1 " T N R B A

= l [~ T~ T = %)
I - <
B o
L A@ (ttbar) (Mtt > 450 dy > 0) 13
10° £ ==
— ---=-- Pythia 6.428 359 3 2
. —A— Pythia 6.428 370 7] N
10 = —* Pythia6.428 a 3
= v Pythia 6.428 dw =k
— —oe— Pythia 6.428 p0 4 %
. ] >
1 & % Pythia 6.428 pro-q20 87 Y
1L .o ; |
10 = =)
— AAR —m
— oA a5
— ‘.i &TA 1 8_
-2 | £X ]
10 § e K § O‘_'O
E B - EAR SR 5 E;
5 R A;L—L X g‘é"-'e;’; 5O )i = | i
10 ° - E — c
Sy Ay PR e =2
S SR : 18
107* o = *g
- (MC_FBA_TTBAR) 32
N | | | | | | [ I | | | | | | 1€
:l T T T T | T T T T | T T T T | :
2 B —2
N ] Wik A Z‘




	Contents
	Page 1


